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QUESTION 1

A virtual machine is receiving a large number of network packets, which is affecting the performance of other virtual
machines connected to the same virtual network. What should the vSphere administrator do to resolve the issue?

A. Migrate the virtual machine to a standard switch that has been configured for ingress traffic shaping
B. Configure the distributed switch to which the virtual machine is connected for ingress traffic shaping
C. Migrate the virtual machine to a different port group on the same distributed switch

D. Enable Network 1/0O Control on the standard switch to which the virtual machine is connected

Correct Answer: B

QUESTION 2

An administrator is re-provisioning an ESXi host and moving it to another datacenter.

Which DCUI option should the administrator use to revert the system configuration to the default settings?
A. Reset System Configuration

B. Rebuild Default System Configuration

C. Revert System Configuration

D. Renew Default System Configuration

Correct Answer: A

QUESTION 3

A VMFS5 datastore shows several errors, which suggests file system corruption. Which tool could a vSphere
administrator use to check the VMFS file system?

A. vSphere On-disk Metadata Analyzer (VOMA)

B. VMware Infrastructure Management Assistant (VIMA)
C. vSphere Storage APIs for Storage Awareness (VASA)
D. VMware vSphere Health Check Analyzer (VHCA)

Correct Answer: A
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QUESTION 4

Before upgrading from vCenter 4.x to 5.x, an administrator runs the vCenter Host Agent Pre-Upgrade Checker. The
Checker reports an issue. What would cause the vCenter Host Agent Pre-Upgrade Checker to report an issue?

A. The .NET framework 3.5 is installed.
B. The host network card is only 1 Gbps.
C. The file system is not intact.

D. The VMFS file system is version 4.0.

Correct Answer: C

QUESTION 5
-- Exhibit -
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Failnacki Yes
Agtive uplinks:
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1 Block all poris: Mo -

-- Exhibit -The administrator needs to modify the problematic configuration shown in the exhibit to meet the following
requirements:

1. Uplink ports must connect to a 2-port Etherchannel connection. 2. Traffic must pass, even in the event of a port
failure. Which two configuration changes should the administrator make? (Choose two.)

A. Change the Load balancing algorithm to Route based on ip hash

B. Change the Load balancing algorithm to Route based on physical NIC load
C. Move Uplink 1 into Active Uplinks and Uplink 2 into Standby Uplinks

D. Move both uplinks into the Active Uplinks

Correct Answer: AD
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